
 TIME AND WORK BY ALOK SIR
1. A can do a piece of work in 6 days and B in 9 days.

How many days will both take to gether to

com plete the work ?

A Skeâ keâece keâes 6 efoveeW ceW leLee B 9 efoveeW ceW keâj mekeâlee
nQ~ oesveeW efceuekeâj Gme keâece keâes efkeâleves efoveeW ceW hetje keâjsieW~
(a) 7.5 days (b) 5.4 days

(c) 3.6 days (d) 8.4 days



2. A can do a piece of work in 15 days and B in 20

days. If they to gether work on it 4 days, then the

frac tion of the work that is left is :

A Skeâ keâece keâes 15 efoveesb ceW leLee B 20 efoveeW ceW keâj
mekeâlee nQ~ Ùeefo Jes 4 efoveeW lekeâ Skeâ meeLe keâece keâjles nQ,
lees Deye keâece efkeâlevee efnmmee yeÛee ngDee nQ~
(a) 8

15
(b) 7

15

(c) 1
4

(d) 1
10



3. A can cul ti vate 2
5

th of a land in 6 days and B can

culativate 1
3

 of the same land in 10 days. Work ing

to gether A and B can cul ti vate 4
5

th of the land in :

A Skeâ peceerve keâe 2
5

Yeeie 6 efoveeW Deewj B peceerve keâe 1
3

Yeeie 10 efoveeW ceW keâeš mekeâlee nQ~ A DeewjB Skeâ meeLe keâece
keâece keâjkesâ 4

5
Yeeie peceerve efkeâleves efoveeW ceW keâešWieW ~

(a) 4 days (b) 5 days

(c) 8 days (d) 10 dyas



4. A can fin ish a piece of work in 18 days and B can do

the same work in half the time taken by A.  Then

work ing to gether what part of the same work

they can fin ish in a day ?
A Skeâ keâece keâes 18 efoveeW ceW Kelce keâjlee nQ~ B Gmeer keâece
keâes A Éeje efueÙes ieS meceÙe kesâ DeeOes meceÙe ceW Kelce keâj
mekeâlee nQ~ Skeâ meeLe keâece keâjkesâ Jes oesveeW Skeâ efove ceW
efkeâlevee Yeeie Kelce keâjWieW ~
(a) 1

6
(b) 2

5

(c) 1
9

(d) 2
7



5. A, B and C can com plete a piece of work in 24, 6

and 12 days re spec tively. Work ing to gether, they

will com plete the same work in

A, B leLee C efkeâmeer keâece keâes ›eâceMeŠ 24 6, leLee 12 efoveeW
ceW keâj mekeâles nQ~ Skeâ meeLe keâece keâjkesâ Jes Gmeer keâece keâes
efkeâleves efoveeW ceW keâece Kelce keâjWies ~
(a) 1

4
 day (b) 7

24
 days

(c) 3 3
7

 days (d) 4 days



6. A and B can do a piece of work in 12 days. B and C in

15 days and C and A in 20 days. If A, B and C work

to gether, they will com plete the work in :

A Deewj B efkeâmeer keâece keâes 12 efoveeW ceW keâj mekeâles nQ~ B

Deewj C Gmeer keâece keâes 15 efoveeW ceW keâj mekeâles nQ~ leLee C

Deewj A Gmeer keâece keâes 20 efoveeW ceW keâj mekeâles nQ~ Ùeefo
A B, leLee C Skeâ meeLe keâece keâjs, lees Jes efkeâleves efoveeW ceW
keâece Kelce keâjWies ~
(a) 5 days (b) 7 5

6
 days

(c) 10 days (d) 15 2
3

 days



7. A and B can do a piece of work in 72 days. B and C

can do it in 120 days, A and C can do it in 90 days. In

how many days all three to gether can do the work

?

A Deewj B Skeâ keâece keâes 72 efoveeW ceW keâece keâj mekeâles nQ~B

Deewj C Fme keâece keâes 120 efoveeW ceW keâj mekeâles nQ~ leLee C

Deewj A Gmeer keâece keâes 90 efoveeW ceW keâj mekeâles nQ, leerveeW
efceuekeâj Fme keâece keâes efkeâleves efove ceWs keâjWieW ~
(a) 80 days (b) 100 days

(c) 60 days (d) 150 days



8. A Man, a woman and a boy can com plete a job in

3,4 and 12 days. How many boys must as sist 1 man

and 1 woman to com plete the job in 1
4

 of a day ?

1 heg™<e, 1 ceefnuee leLee 1 yeÛÛee efkeâmeer keâece keâes ›eâceMeŠ
3,4, leLee 12 efoveeW ceW keâj mekeâles nQ~ efkeâmeer keâeÙe& keâes 1

4

efoveeW ceW Kelce keâjves kesâ efueÙes 1 heg™<e leLee 1 ceefnuee kesâ
meeLe efkeâleves ue[kesâ DeefveJeeÙe& ™he mes ueieeS peeSBieW ~
(a) 1 (b) 4

(c) 19 (d) 41



9. A and B can do a piece of work in 10 days, B and C in

15 days and C and A in 20 days, C alone can do the

work in :

A Deewj B efkeâmeer keâece keâes 10 efoveeW ceW B Deewj C 15 efoveeW ceW
C Deewj A 20 efoveeW ceW Skeâ keâece keâes Kelce keâj mekeâles nw~ C

Dekesâuee efkeâleves efoveeW ceW keâece Kelce keâjWiee ?
(a) 60 days (b) 120 days

(c) 80 days (d) 30 days



10. A can doa piece of work in 4 hours. B and C can do it

in 3 hours. A and C can do it in 2 hours. How long

will B alone take to do it ?

A Skeâ keâece keâes 4 Iebšs ceW keâj mekeâlee nQ~ B Deewj C Fmeer
keâece keâes 3 Iebšs leLee A Deewj C 2 Iebšs ceW keâj mekeâles nQ~ B

Dekesâuee Fme keâece keâes efkeâleves efoveeW ceW keâjWiee~
(a) 10 hours (b) 12 hours

(c) 8 hours (d) 24 hours



11. A can com plete a piece of work in 6 days while B

can com plete the same work in 12 days. If they

work to gether and com plete it, the por tion of the

work done by A is

A Skeâ keâece keâes 6 efoveeW ceW Kelce keâjlee nQ~ peyeefkeâ B

Gmeer keâece keâes 12 efoveeW ceW keâjleenQ~ Ùeefo oesveeW meeLe keâece
Kelce keâjles nQ lees A ves efkeâlevee keâece efkeâÙee ?
(a) 1

3
(b) 2

3

(c) 1
4

(d) 1
2



12. A and B together can do a piece of work in 10 days.

A alone can do it in 30 days. The time in which B

alone can do it

A Deewj B efceuekeâj Skeâ keâece keâes 10 efoveeW ceW keâj mekeâles
nQ~ A  Dekesâuee Gme keâece keâes 30 efoveeW ceW keâj mekeâlee nQ,
lees B Dekesâues Gme keâece keâes efkeâleves efoveeW ceW keâjsiee ~
(a) 10 days (b) 12 days

(c) 15 days (d) 20 days



13. A and B can complete a piece of work in 15 days

and 10 days respectively. They contracted to

complete the work Rs. 30,000. The share of A in

the contracted money will be :

A Deewj B efkeâmeer keâeÙe& keâes ›eâceMeŠ 15 efoveeW leLee 10 efoveeW
ceW Kelce keâj mekeâles nQ~ Gvnesves 30,000 ceW Skeâ keâeÙe&
keâjves keâe "skeâe efueÙee, lees kegâue jeefMe ceW mes A keâe efnmmee
efkeâlevee nesiee ~
(a) Rs. 18,000 (b) Rs. 16,500

(c) Rs. 12,500 (d) Rs. 12,000



14. A can do 1
2

 of a piece of work in 5 days, B can do 3
5

of the same work in 9 days and C can do 2
3

 of that

work in 8 days. In how many days can three of

them together do the work ?

A efkeâmeer keâeÙe& keâes 1
2

Yeeie 5 efoveeW ceW keâj mekeâlee nQ~ B

Gmeer keâeÙe& keâes 3
5

Yeeie 9 efoveeW ceW keâj mekeâlee nQ, Deewj C

Gmeer keâece keâe 2
3
 Yeeie 8 efoveeW ceW keâj mekeâlee nw, leerveeW

efceuekeâj Gme keâece keâes efkeâleves efoveeW ceW hetje keâjsiee~
(a) 3 days (b) 5 days

(c) 4 1
2

 days (d) 4 days



15. A man and a boy received Rs. 800 as wages for 5

days for the work they did together. The man's

efficiency is twice of the boy. What are the daily

wages of the boy ?

Skeâ heg™<e leLee Skeâ ue[kesâ keâes 5 efoveeW meeLe keâece keâjves
kesâ efueÙes ™. 800 efceueles nQ~ heg™<e keâer keâeÙe& #ecelee
ue[kesâ keâer keâeÙe&#ecelee keâer oesiegveer nQ, lees ue[keâe Øeefleefove
efkeâleves ™heÙes keâceelee nQ ?
(a) Rs. 53 1

3
(b) Rs. 56 1

3

(c) Rs. 44 1
3

(d) Rs. 40 1
3



16. A daily—wages labourer was engaged for a certain

number of days for Rs. 5,750; but being absent on

some of those days he was paid only Rs. 5,000.

What were his maximum possible daily wages ?

Skeâ cepeotj keâes ™. 5750 ceW kegâÚ efoveeW kesâ efueÙes keâece hej
ueieeÙee ieÙee~ uesefkeâve kegâÚ efove DevegheefmLele jnves kesâ
keâejCe Gmes kesâJeue ™. 5000 efoMe ieÙee, lees Gmekeâer
DeefOekeâlece owefvekeâ cepeotjer efkeâleveer Leer ?
(a) Rs. 125 (b) Rs. 250

(c) Rs. 375 (d) Rs. 500



17. A and B can do a piece of work in 12 days, B and C in

8 days and C and A in 6 days. How long would B

take to do the same work alone ?

A Deewj B Skeâ keâece keâes 12 efoveeW ceW keâj mekeâles nQ,B Deewj C

Gmeer keâece keâes 8 efoveeW ceW leLee C Deewj A, 6 efoveeW ceW keâj
mekeâles nQ~B Dekesâuee Gme keâece keâes efkeâleves efoveeW ceW keâjWiee?
(a) 24 days (b) 32 days

(c) 40 days (d) 48 days



18. A does 4
5

 of a piece of work in 20 days; He then

calls in B and they finish the remaining work in 3

days. How long B alone take to do whole work ?

A efkeâmeer keâece keâe 4
5

  Yeeie 20 efoveeW ceW keâjlee nQ, efheâj B

keâes keâece hej yegueelee nQ~ DeeQj Jes efceuekeâj Mes<e keâece 3 efove
ceW Kelce keâjles nQ, lees B Dekesâuee Gme keâece keâes efkeâleves efoveeW
ceW keâjWiee ?
(a) 37 1

2
 days (b) 37 days

(c) 40 days (d) 23 days



19. A does 7
10

 part of work in 15 days. After that he

completed the remaining work in 4 days with the

help of B. In how many days will A and B together

do the same work ?

A 7
10

 Yeeie keâece 15 efoveeW  ceW keâjlee nQ Gmekesâ heMÛeele Mes<e

keâece Jen B keâer meneÙelee mes 4 efoveeW ceW Kelce keâjlee nQ~ lees
A leLee B Skeâ meeLe efkeâleves efoveeW ceW keâece Kelce keâjWies ?
(a) 10 1

3
 days (b) 12 3

5
 days

(c) 13 1
3

 days (d) 8 1
4

 days



20. A and B can do a piece of work in 30 days while B

and C can do the same work in 24 days and C and A

in 20 days. They all work together for 10 days.

How long will A take to finish the remaining work

?

A Deewj B Skeâ keâece keâes 30 efoveeW ceW keâj mekeâles nQ peyeefkeâ
B Deewj C Gmeer keâece keâes 24 efoveeW ceW, leLee C Deewj A Gmeer
keâece keâes 20 efoveeW ceW keâj mekeâles nQ Jes 10 efoveeW ceW Skeâ
meeLe keâece keâjles nQ, lees yeÛee ngDee keâece A efkeâleves efoveeW ceW
keâjWiee ?
(a) 30 days (b) 24 days

(c) 18 days (d) 36 days



21. A and B undertook to do a piece of work for Rs.

4500. A alone is 8 days, and B alone in 12 days.

With the help of C they completed the work in 3

days. How much is to be paid to C ?

A leLee B Skeâ keâece keâes Dekesâues keâes 4500 ™. ceW keâjves
keâe "skeâe uesles nQ~ A Dekesâuee keâece keâes 8 efoveeW leLee B

Dekesâuee keâece keâes 12 efoveeW ceW keâj mekeâlee nQ~ C keâer
meneÙelee mes Jes 4 efoveeW ceW keâece Kelce keâjles nQ, lees kegâue
jeefMe ceW C keâe efnmmee %eele keâjW ?
(a) Rs. 2250 (b) Rs. 1500

(c) Rs. 750 (d) Rs. 375



22. A alone can complete a piece of work in 12 days. A

and B together can complete it in 8 days. How long

will B alone take to complete the work ?

A Dekesâues efkeâmeer keâece keâes 12 efoveeW ceW keâj mekeâlee nQ~ A

Deewe B efceuekeâj Gmeer keâece keâes 8 efoveeW ceW keâj mekeâles nQ, lees
B Dekesâues Gmeer keâece keâes efkeâleves efoveeW ceW keâjsiee ?
(a) 24 days (b) 18 days

(c) 16 days (d) 20 days



23. A and B together can do a piece of work in 5 days

and A alone can do it in 8 days. B alone can do the

same piece of work in

A Deewj B efceuekeâj efkeâmeer keâece keâes 5 efoveeW ceW keâj mekeâles
nQ~ Deewj A Dekesâues Gme keâece keâes 8 efoveeW ceW keâj mekeâlee nQ,
lees B Dekesâues Gme keâece keâes efkeâleves efoveeW ceW keâjsiee ?
(a) 11 1

3
 days (b) 12 3

5
 days

(c) 13 1
3

 days (d) 16 4
5

 days


